


TILTA FOR FREEFLY WAVE



[RRRA

01 2%mi

L2EHATBET

JEMB RS |
B4 3/BEMBYFN /4B MIRKIL

@ suEn
@ 38R
© 1l

@ O E)
® NeEEA(ED)
® L)

1/4E R

[« REETEN
@ NATOES
[6 QUEEEE
@ Mgz,
@ SHEN(RE)
o .

@ V4RSI (E)
@ 1aEuBEIL(EN)
@ 3BRUBLI(ER)
@ 1msALEN)
@ nsEEEn)

>0} L ()

@ 1mtrEs
@ NsEEA0E)

@ 14EREIL(ER)

3/8FEfLFL
1)
ERIFEARRI
ER

NATOB&
[z=m]
AISMEMFR
SR

o 1V4AERFL

 3/8FEMIFL
(=0
BEATEARRI
EIR




ﬁ BEZNEHEFRE, RERPHE
BREEREBQ, MEMUE
BOIR2L, SRS TIREC .




[RRRA
;E ‘

ZEBALF

BAEFIREBRSHO

ot
FLeh, FEER@IEH M RIZ

BOLEFRS

#

S
<

Rl
BRI FNZRERM]

ES
[

BER
TRERRATHIELS

L2 SERAREL

BofL
[FTREVF RS RS

SRR

15mmEHIE]




REOSEERER,

T2 15MMITAEREE . 15REETS
BANRERT, IFREREMETFX.




[RRRA

05 =zrERAVONE

REVERR. BERLEERRUNEEET
BEOM3RNIL L. BAETFHRRESERM,
EA] RIEF IR E R TE -

REQVOMRBER. BVOERUEEHRRR
Eeg1/423 b, ETERMBIERE.

[£]: BFEERHESIMIBLY, TREESC
B FEHRREERENNBERERRR.




PR

06 z=zsiz
Y

€ BOEKERREARI L, BREQOTILTA
@ BANIE, IFRBLTHIEE.

* TILTAGL#8#EMTF (EF-E mount T CINE)

HEERRE




RS

07‘ EIVERVIEW‘ DETAILS »)

Cold shae mount with 1/4” ~20 screw thread. For mouniing a top hande.

NATO rail [For mounting microphone, on-board LED light, wireless video transmitter, monitor, etc.]
Multiple 3/8” -16 and 1/4” -20 screw holes

LRICTARES

1 mwf;

@ Cold shoe mount
@ 38" ~16 screw hole

1/4” -20 screw hole

38" ~16 screw hole with ©
© 1 wsaewnoe @ locating points (bottom) withlocating points o]
@ M3 screw hole 114" ~20 screw hole with 3/8” ~16 screw hole ©
© nATori locating points (bottom) with locating points
e ol 114" ~20 screw hole with Lt side] o .
@ M3 screw hole ocating points (iefl Compatible with ARRI QoG - 1/4” -20 screw hole
@ M4 screw hole @ 35 16 scrowhole with slandordsccessorios ° ‘ with locating points.
@ Cold shoe mount (top) locating points (left O @ * 3/8” ~16 screw hole
@ 38" ~16 screw hole @ 1147 ~20 screw hole (right) NATO rail o1 ‘with locating points:
B left side] [right side]
pe . @ Camera body security points 0
| | @ 14" ~20 screw hole (riah) For mounting accessories Ol0]  compatbievith ARR!
I @ Camera cage screw 38" —16 screw hole with suchasa side handle 5 o standard accessories
hole (top) locating points (ight) attachment. wihlocaling pns
K EETISIDEARM RIGHTIS DEARKM @ Cold shoe mount (bottom) @) 1/4” ~20 screw hole with ]

locating points (right)




T |
na‘ INSTALLING FULL CAMERA CAGE

ﬁ Place the camera into the camera cage. Secure the cage
ﬁ by mounting the screws on 2 the bottom, ® the top, and
@ (4) the side. The camera cage assembly is complete.




PR

I
ng‘ INSTALLING QUICK RELEASE TOP HANDLE ‘

Dual Cold Shoe Mounts

[ For mounting microphone, additional light,
wireless video unit, monitor bracket, phone
bracket, etc.]

© 15mm Rod Holder
[ For mounting EVF bracket and other
accessories that require 15mm rod
for installation.]

Slide the cold shoe into the cold shoe mount, then align
the () tie down screw on the top handle with the 1/4”
—20 locating point on top of the camera cage. Tighten
the @ tie down screw.




< el
I n INSTALLING QUICK RELEASE
PLATE AND BASEPLATE

Secure the quick release plate
to the bottom of the camera cage

Install the (1 Manfrotto
quick release plate.

Install the @ 15mm LWS baseplate.
Slide the baseplate onto the bottom
plate, then tighten the tie down screw
to secure the baseplate.

DEMONSTRATION




RIS

[
INSTALLING MULTI-FUNCTIONAL MOUNTING

I I ‘ PLATE AND V-MOUNT PLATE

NOTE: There are multiple M3 screw holes on the back of the
camera cage. Please select the mounting points according
to your balance needs.

Install (1) the multi-functional mounting plate. Secure the
plate to the back of the camera cage via the M3 screws.
This provides flexible balance adjustment and mounting
options for various accessories.

Install 2 the V-mount battery plate. Secure the V-mount
battery plate to the multi-functional mounting plate via the
174" =20 screws.




[RRRA

I
Iz ‘ INSTALLING LENS SUPPORT

i &
s

Mount the 1) lens adapter to the camera body. Install the 2
) Tilta lens adapter support. Tighten with the tie down screw.

* Tilta lens adapter support is only compatible with EF-E mount T CINE.

DEMONSTRATION




